median = 1.454 ug

T

H median = 0.085 Hz

mams, hirap006 at LAB102, ER1, Lockers 3,4:[138.68 —16.18 142.35] .
198.0000 sa/sec (6.00 Hz) . SSAnalysis[ 0.0 0.0 0.0]
Af=0.003 Hz, Nfft = 65536 mams, hirap006 Hanning, k = 1020

Temp. Res. = 27.960 sec, No = 60000 Start GMT 04-August-2014, 216/08:00:00.004 Span = 7.91 hours
_ L -6

o
fe)

Frequency (Hz)
o
(6]

=
N
<
N
2
[=]
orl
k=)
(N
°
=
=
c
o)
<
=
(@]
n
o
2
X
b
X

09:00 11:00 12:00 13:00 14:00 15:00 16:00
GMT 04-Au g ust-2014 1 21 6/ h h ‘mm from: /misclyoda/pub/pad, pims, 06-Aug-2014,11:02:40.594




